Answers to homework

ing, while the doubled pawns con-
trol important squares in the centre.
The game might continue:

22...26 23. 2xeb fe 24. Exf8+
Lxf8 25. Efl+! g8 26. Edl+;

22..2¢4 23. Zf4 2h5 24. g4
206 25. h4 h5 26. Lh2 Hh7 27.
Zgl 16 28. gh £.xh5 29. e5!+;

23...b6? (which was played in the
actual game) 23. Zd1 $)g6 24. Zd6
£.2625. 512 2.b5 26. e57e7 27. e4
¢528. €6 16 29. Zxb6 £.¢6 30. Exc6
Nxc6 31. e7+ Zf7 32. £.d5. Black
resigned.

40th lesson

No. 1

31. OO f7! We8. Black has to sur-
render a pawn, whereas after 31...
Lxf7 it is mate: 32. Wh5+ de7
33. Exe6+ Exe6 34. Eel+ Ld6
35. Wes+ d7 36. Ws+ d6 37.
Weot.

32. Exe6 Wxe6 33. 5)d8 Wedq
34. 5)xc6.

No. 2

28. 2.d1! ¢6. The threat of g4-g5
is quite unpleasant, for example, 28...
£1829. g5 15 30. efgf 31. £e2 or 28...
h6 29. 5! h5 30. gf+ S xf6 31, £.e2 c6
32. dc £.xc6 33. f4 g7 34. f5.

29. dc Zxc6 (29...2xc6 30. g5!
@b7 31, gft &xf6 32. g4 Txc3
33. Exc3 Wds 34. Wxb5 £xe4 35.
a4 h536. 2h3) 30. Wxb5 (30...Eec8
31.4)d5 Exc3 32. Wxd7+ HHxd7 33.
Exc3+—). Black resigned.
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No. 3

16...0a3+ 17. La2 b5! This
enables black to build a strong at-
tack.

18. g5 £1d7 19. &\d5 (19. 2.xb5
Hxb5 20. xb5 Wxc2 21. Wxc2
Exc2F) 19...2xd5 20. Zxd5 ba
21. &xa3 ab 22. &xb3 a4+ 23.
&a2 a3 24. ba 5 b6 25. Zb5 a4
26. Zb3 d5! 27. ed % c3+ 28. Lal
Zch8 29. d6 2xd6. White re-
signed.

41st lesson

No. 1

17. dc be 18. b5! The black passed
pawn is not dangerous, whereas
white has the chance to create a dis-
tant passed pawn.

18...a6 (18..5xe5 19. £xe5
£d720. %)b3!) 19. a4 ab 20. ab Ya7
21. % ec4! with much better play for
white.

No. 2

28.%)a4!bc 29.b6! Zb8 30. 4\ c5.
Having sacrificed a pawn white has
gained a strong passed pawn, which
black will soon have to exchange for
a piece.

No. 3

38. £xg7+!9xg7 (38...Exg7 39.
Wxf8+ Hxf8 40. bSW) 39, Wxfg!
Ex18 40. Zd8 H)e6 41. Zxf8+ HHxf8
42. b8 g7 43. WaT7+ Lh6?! 44.
W71 Black resigned.
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42nd lesson

No. 1

35. We3+ d7 (35...2b8 36.
Wes &a7 37. 5Hb2! Hes 38. Had
4 39. Sxb6 )xb6 40. We3+— or
37..5d8 38. £a4 Edd6 39. Hxb6
Zxb6 40. f4+—) 36. £\ c5+ Ld6 37.
Hxb7+! Ld7 38. Yes! Zxb7 39.
Wee+ Le7 40. Wxh7+ L6 41. b6
d4 42. W7 d3 43. fl1 Hes 44. b7.
Black resigned.

No. 2

34...a4! 35. ba b3! 36. ab Wxh3+
37. &cl 2h6+ 38. Zdd2 Yxa4 39.
2e5 ©h7 40. 2.¢3 Whs! 41. 2d4
We2 42. g4 Wel+ 43. Lb2 2xd2
44. Zc8 2 c1+. White resigned.

No. 3

32. Zxg6! (N5 (32..Wxd8 33.
Hg7+) 33. Zf6+ g8 34. Hxe8+
Wxe8 35. Zxf5 e3 36. ZeS. Black
resigned.

43rd lesson

No. 1

42. Za5! The hurried 42. a7?!
Wed+ 43. &b3 (or 43. wdl W3+
44, ©d2 We2+ 45. Le3 Wh3+ 46.
Dd4 Wed+ 47, d5 WH+) 43...
Wds5+ 44, Lc2 Wed+ leads to a
draw by perpetual check.

42...%a8 (42..We2+ 43. &b3
Wxd3 44. a7 Wdl+ 45. a2) 43.
a7 d5 44. £ \b4 d4 45. £)d5 dc 46. be
L g7 47. Lb3. Black resigned.

Answers to homework

No. 2

27. Zfd1! (white launches a
crushing attack on the king) 27...
Wybh2. Let’s consider alternative
variations:

27.. Wxdl+ 28. Zxdl &xb7 29.
Bd4 Hxg7 30. Hxc4 a5 31. Ef4!
& b6 32. hd &b5 33. b3+—;

27.. Wxe7 28. Hxa7 Lb8 29.
Edal Ze8 (29...%d4 30. £HHasS! Wes
31. Zb7+ &c8 32. Exf7) 30. HHd6
Zel+ 31. Bxel &xa7 32. H)xcd+.

28. {Hd6+ b8 29. Edb1 Yxg7.
It looks like he cannot save the
game:

29...Wc3 30. Exa7! &xa7 (30...
Hxg7 31. Eb7+ La8 32. E7xb4)
31. 9b5+ La6 32. Hxe3 be 33.
Bb4l+—;

29...%d2 30. S xcd Wc3 31. Zad!
b3 32. Hhas! a8 (32...b2 33. Ebd+
Lag 34. L4xb2) 33. Za3! Wxg7 34.
N6 b7 35. HxaT+—.

30. Zxb4+ Lc7 31. Za6! Zb8
32. Exa7+ &xd6 33. Zxb8 Wgq
34. Zd8+ c6 35. Zal. Black re-
signed.

No. 3

23. 2xa6! a8 24. 2xb7 Zxad
25. & xad. White has gained a rook,
bishop and pawn for his queen.
Moreover, black now has weak
pawns on b6 and d5, while white has
the chance to occupy the c-file after
doubling rooks.

25...5)a5 26. 226 Za8 27. 2b5
4 28. Ec2 h6 29. 9)e3 Has5 30.
b4 b7 31. Hexds! Hxds 32.
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Nxd5 Wxds 33. Hc7+ ©f8 34.
2 c4. Black resigned.

44th lesson

No. 1

1...ef? 2. Wxd4! & xed 3. Wxg7+
L xg7 4. 7\ xed with a very strong at-
tack.

No. 2

Sacrifice it! 23...%Yxg4! 24. hg
$xe5 25. Hxe8 (or 25. )xb7 Hxb7
26. Exd7 Hes! 27. Zd4 b5) 25...
Zxc8. Black’s chances are better.

No. 3

28. Wgq He829. Zh5! X8 (29...
ZxhS 30. Wxh5+ Lf8 31. Whe+
L7 32. Wel# or 30...4)7 31. Eg8+
£ 18 32, Wxc5) 30. Zxc5! £.xc5 31.
Wh5+. Black resigned.

No. 4

Yes, white in any case gains three
minor pieces for two rooks together
with an excellent position:

1. Zxc5! ed (or 1..%Wxc5 2.
Hxe6! Exd3 3. £xc5) 2. Zxc6! be
(2...de 3. Exb6 Exd3 4. Exb7 Zd1+
5. 2f1) 3. 2g5 16 4. £.c1 b5 5.
N4+,

45th lesson

No. 1

26...2xc4!! 27. Zxb8 Zc1+ 28.
211 Zxb8 29. £.¢3 Zbbl 30. Yd3
(30. Was+ 218 31. Wxa6 Hed 32.

315

g4 xc3 33. Exc3 Hxc3 34. Lg2
a3) 30...a3! White cannot cope with
the passed pawn.

31. Wxa6 a2! 32. g4 Exf1+! 33.
Wxfl 9\ ed! 34. 2.a1 £)d2. White re-
signed.

No. 2

24. b4!! White sacrifices his
queen for a rook, thereby gaining
dangerous passed pawns.

24...Ex¢6 25. dc (despite his ma-
terial advantage black has nothing
good here) 25...e6. Other replies are
no better: 25...cb 26. b6, 25...Wh6
26. c4! Ha8 27. Hal! Exal 28. Hxal
€6 29. Za6 W7 30. be de 31. £.xc5.

26. Zed1! (26.bc d527.b6 d4 28.
c7 We7!) 26...Yn8 (26...cb 27. b6,
26...d527. £.xc5d4 28.b6) 27.be d5
28. ed ed 29. Exd5 We8 30. c¢7 Wi7
31.b6! Wxd5 32. b7. Black resigned.

No. 3

28. cb! Zel+ 29. Hxel Lxb5
30. ba We6 31. Zb1 ©h7 32. Zb8.
Black resigned.

46th lesson

No. 1

The game continued 23.2.¢5?
(23.2xa7 3 24.2hl b5!? leads to
an unclear position, but that was
white’s best option) 23...f3 24.2 xf8
(24.2h1 Ef4! 25.c4 b6 26.2e3
Efxcd 27.%Wa3 ed—+) 24..2xf8
25.%Wxb7 fxg2 26.Yxg2 From the
material point of view white is fine,
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but black’s strong bishop pair to-
gether with the exposed position of
the white king will decide the game.

/‘@/ .9./

WY %
/%/ )

V
0

.
/ /

/

26...'%7! 27.2ab1

27.%b3 e4 28.c4 Exc4! 29.Wxc4
W3 30. &gl £h3—+

27...e4!?

27..52xc3 28.%gl e4 is also
good.

28.14

28.Lgl 2.¢5;

28.f3 Exc3 29.fxe4 Zc2 30.%2h1
Wh5—+

28...2x¢3 29.5b3

Answers to homework

29..Hc7! 30.%a8 Hc2 31.Ef2
£ h3 was even stronger. He could
also have played 29..Zc2 30.Ef2
£ h3 31.&xh3 Wxb7 32.5xb7 Exf2
33.Exa7 e3 34.Za6 e2 35.Ee6 2.b4.

30.f5 Desperation. 30...2d2
31.562 Zxf2 32. & xf2 Wxf5 33. &L el
2 ¢5 ... White resigned.

No. 2

46. d4!! (46. Lc7 Za8 and 46.
£ b6 Ze8 are less clear) 46...f4 47.
d5e348. 2elf349. Lc7! Zf8 (49...
Za8 50. d6) 50. d6 Zf4 51. 2.¢3+
Lh7 (51.. &8 52. d7 Exc4+ 53.
L d6) 52. 2.d3. Black resigned.

No. 3

46. Zc3! (46. a5 4)d6 47. Ed4
Dxed! 48. Exed4+? Lf5) 46...5)d6
47. Exc6! be 48. a5 c5 49. a6 H\b5
50. e3 c4 51. 2d2 Ld6 52. Le3
& e6. Draw.

No. 4

36. ©\hf5! gf 37. (\xf5 216 38.
DxeT 2.xeT 39. Ze8 £.g5 40. 2.xf7
Lg7 41. 2b3 216 42. f4 )1g6 43. 15
&\ gf8 44. h4 h7 45. Lh3 L g7 46.
g4 Lh7 47. £.c1 £.g7 48. g5 hg 49.
hg. Black resigned.

47th lesson

No. 1

36...h3+ 37. gl (37. L2 Ef5
38. Lf4 Wel#) 37...Hel+ 38. 12
Zf1+! White resigned.
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No. 2

41...5xe5! 42. de (42. Hxe5
2 xd4!) 42...2xe5 43. Hdel £.c7!
(the bishop and two pawns are
clearly better than the rook here)
44. He8+ (44. He7 2d7) #M...
L g7 45. Exd8 £.xd8 46. Zd1 2b7
47. 14 (47. £h3 We5) 47...d4+ 48.
213 d3. White resigned in view of
the following lines: 49. W2 Wxf5!
50. 2.xb7 Wed+ 51. We3 Wxd] or
49. Wxcd Wp2+ 50. g3 2 xf3 51.
Dxf3 Wed+.

No. 3

16...2xf1! 17. Exa8 £xg2 18.
gl 2 xd5. Black has the advantage
as the white pawns are weak.

48th lesson

No. 1

34. Exd7! Exd7 35. 2h3 Ef7
(35...2e7 36. 2.g4 We5 37. Hgl
©h8 38. £.d4!) 36. S.gd Wes 37.
26! Lfb7 38. Zgl Wd8 (38...
Wh5? 39. 2g4) 39. Wf1! Za6 40.
Wh3 Za2 41. 25 Zd2 (41...g5 42.
Wxh4!) 42. d4 Zd3 43. 215+ g8
(43... 908 44, ©.c8 FIxf3 45, Web)
44. ©.c8! OVxf3 (44.. L7 45. £ e6)
45. We6+. Black resigned.

No. 2

28. 2e7! Of5 (28..Hg8 29.
Lf1l) 29. 2xf6 % )xg3 30. fg (ma-
terial on the board is about equal,
but the bishop dominates black’s
rooks) 30...2g8 (he would not have
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ultimately saved himself with the
still better move 30...&xh5 31. &g2
g6 32. Efl €5 33. 2xe5 Hab 34.
£.d6 Ze8 35. h4 Eed 36. Ef4 He2+
37. Ef2 He4 38. Ed2, where white
should gradually win) 31. &g2!
&xh5 32. h3 &g6 33. Zfl Lh7
(33...Ea6 34. g4 5 35. 2xe5 Eeb
was more stubborn) 34. g4 b4 35.
g3 b3 36. a3 Zac8 37. h4 Zg6 38.
h5. Black resigned.

No. 3

21...5xd3! 22. Exd3 £ed4 23.
Hd2 (23. Ed4 2.¢5) 23...Wxc4 24.
Zfd1 £.d5. Black has gained good
positional compensation for the ex-
change, taking the initiative away
from white.

49th lesson

No. 1

21. DxI5! 2xe3 22. £)xd6 Wh8
23. 9)xe4 216 24. {\d2! White’s
pawns are stronger than the piece.
He threatens to advance his e pawn.

No. 2

45. H\xc6! 45. £)d3 g4 46. hg hg
47. W4 Wh7 48. &1 g3 is worse,
handing the initiative to black.

45...bc 46. Zxc6 W7 (46...2a7
47. Ec8+ L h7 48. W5+ was weak,
but 46...%g6 was more stubborn)
47. W5 g7 48. Exa6. White has
the advantage and he gradually con-
verted it into a full point.
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No. 3

19...2.xg4? 20. £2xf6! The alter-
natives are worse: 20. &\bl Wa5+
21. b4 Wxb4+ 22. 2d2 WH5!, or
20. Gxgd Dxed 21. bl Whe! 22,
Hxa3 Woa+.

20...2xe2 21. Lxe2! £xf6 22.
b1 Was 23. b4! Wxhg 24. H)xa3
£ xh4 25. &) c4. With the queens on
board and black’s king exposed the
knight is clearly stronger than the
pawns.

50th lesson

No. 1

11. b4!! (11. HHa3 £.¢5 12. HHdl
0-0 only leads to equality) 11...
ab 12. & xb5 d5 (12...2¢e7 13. ¢5
Wds 14. Wa7) 13. H)d6+ Le7 14.
c5 Wa6 15. Wc2. White threatens
a queenside pawn advance, where-
as it’s not clear how black can untie
himself: the white knight has stapled
down black’s entire position.

15...5)e8 (if 15...2.d7 then 16. a4
followed by b5 and £ a3 and black’s
position is extremely difficult) 16.
b5 Wa8 17. 214 5 xd6 18. £xd6+
Le8 19. £xb8 Wxh8 20. a4 Wc7
21. Zfcl £5 22. a5 He5 23. ¢6 b6
24. ab YWxb6 25. Za8 d8 26. Lb8.
Black resigned.

No. 2

27. Hxb7! (27. £xa6? ba 28.
Dxab Ec8 29. /b7 Wd7 is worse)
27...Exb7 28. a5 Hc6. 28...Eb8 29.
c6 xcb 30. Dxcb 2.xc6 31. Wxco

Answers to homework

H\d2 32. £xab is also useless, and
then: 32...5)xbl 33. Exbl Za8 34.
£ b7 Exas 35. £.c8 or 32...00xf1 33.
2 xfl £d7 34. a6 £d6 35. We7.

29. HHxc6 2.xc6 30. 2.xa6 ZbS.
He could have resisted better with
30..%Wa8 31. 2xb7 Zxb7 (31...
Wxb7 32. Wd3) 32. Zal Wa6 33.
Hfbl g7, although white should
win here after 34. Za3.

31. 2b5! (now there is no stop-
ping the avalanche of white pawns)
31...%c8 32. 2xc6 Wxc6 33. a6
L g7 34. Zb4!? 5)1d6 35. Waq Wxad
36. Zxad &\c8 37. Zb4! £)a7 38. ba
a8 39. ¢6! (39. Zb7 Exa7 40. Exa7
Hxa7 41. Hal &17) 39...5Zaxa7 40.
Zel (40...Efc7 41. Eb7 &f7 42.
Hxa7 Exa7 43. c7). Black resigned.

No. 3

20. £3? £)d4! 21. ed Yxd4+ 22.
Lh1 e3! (there was no point in play-
ing 22...%Wxa4 23. fe) 23. {)c3 216!
24.7\db1d2 25. Yc2 2b326. Wxf5
d1Y 27, HHxdl £.xd1 28. Hc3 e2
29. Haxd1 Wxc3. White resigned.

No. 4

Via 15...2¢8 16.2b3 £.xa3!?

16...2a5 17.gxf5 Zb5 would have
led to an approximately equal battle.
The game was played with shortened
time control, so black’s calculation
was fully justified — white is faced
with complicated practical prob-
lems.

17.bxa3 EHxc3 18.2d1 %c6
19.gxf5 exf5 20.7)e2 Ecxa3 21.d5
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It would have been better to play

21.5gl 18 22.Eg5 E8a5 23.2h5
g7 24.%¢2 h6 with an approxi-
mately equal position.

21...5 b4

E
/t/

o, e
A &
>y

/ /&/t/

%
/%

22.0)g3

He should have activated his piec-
es despite the material loss: 22.4\d4
Hd3 23.Hgl+ 18 24.49)xf5.

22...4)d323.5e2
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Here too 23.4)xf5 was better.
23...2al124.2d2 Z8a2

9
/A/ T3
2 0

- /a/A/y

» ) /1/

25.5xa2

His last throw of the dice was
to play 25.&e2 9 xf2 26.2g1 Exd2
27.%xd2 e3 28.%¢e2 & h3 with good
drawing chances — the black pawns
are weak.

25...Exa2 26.2¢e2 Hal 27.&g2
O\T44#.





